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SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
4 APH 23,802,080 26,877,706 13,075,626
=2 1,392,170
=l 16,050,000
= 6,359,910
AWUE OYI|E SAE(SUHLFA/HL S - O E 23,772,706 26,850,856 £3,078, 150
= 1,392,170
=l 16,050,000
= 6,330,536
MAFJIBEAIA B 9,993,562 7,408, 183 2,585,374
= 362,890
3 6, 100,000
= 3,530,672
YxE AL (=D) 1,789,504 1,500,000 289,504
3 1,431,603
= 357,901
401 AISHIL L] 1,789,504 1,500,000 289,504
=l 1,431,603
= 357,901
01 Al 1,788,347 1,496,245 292,102
OXIoisr2 & 1,783,347
= 1,430,678
= 357,669
03 Al&E =l 1,157 3,755 £2,508
OXZOB AL A =2 1,157
3 925
= 232
OHEE e (=1) 3,000,000 1,600,000 1,400,000
= 2,400,000
= 600,000
401 AlEHIL 2T 3,000,000 1,600,000 1,400,000
3 2,400,000
= 600,000
01 Al 2,992,500 1,596,006 1,396,494
CWEVEEE 2,992,500
3 2,394,000
= 598,500
03 Al&=OHH] 7,500 3,994 3,506
ONZOEALAY =T 7,500
= 6,000
= 1,500
Seg AS(2 1) 2,835,496 1,500,000 1,335,496
3 2,268,397
= 567,009
401 AISHIL L] 2,835,496 1,500,000 1,335,496
2,268,397
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01 A&l 2,828,407 1,496,245 1,332, 162
OXI 201521 & 2,828,407
2 2,262,726
= 565,681
03 Al&=CHH| 7,089 3,755 3,334
OXI 201821 & 7,089
2 5,671
= 1,418
Boig RX2% 1,050,000 1,500,000 A 450,000
401 N &L= 1,050,000 1,498,200 A 448,200
01 Al&H 1,044,960 1,491,720 446,760
oOXNYHY B4 (670 &) 894,960
OXI 08 =8 %l (204 150,000
03 Al& =] 5,040 6,480 A1,440
oOXNYHY B4 5,040
EYEOENY 510,000 60,000 450,000
403 XX SHAI S KH2 0| 510,000 60,000 450,000
01 XXISHIEE 510,000 60,000 450,000
OEAE0IE 60,000
OUHEZFNE 300,000
O0E  HEF 150,000
AN Y Mars SO 392,672 176,088 216,584
202 014l 12,672 11,088 1,584
01 2U0tH| 12,672 11,088 1,584
OHIHOIY At 12,672
403 X+XISHAIS KH20 380,000 165,000 215,000
01 KX K22 = 380,000 165,000 215,000
CEPIINCIEN PN 80,000
OFXLOR H = 300,000
SHEOT ABA(2D) 355,000 0 355,000
= 327,000
< 28,000
403 XHXISHAISRH2 0| & 355,000 0 355,000
= 327,000
= 28,000
01 RXSHX=EE 355,000 0 355,000
OMENS 07 Al 355,000
= 327,000
= 28,000
AMAF L0 CIE TS X 25,000 41,100 16,100
307 2I2t0IH 25,000 40,000 15,000
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AR AAO LR (=2D) 35,890 0 35,890
= 35,890

201 Et2a| 11,000 0 11,000
= 11,000

01 AtR2teldl 11,000 0 11,000
oONgol nesd 11,000
= 11,000

202 04| 6,090 0 6,090
= 6,090

01 2| 6,090 0 6,090
oOgol nNesEd 2 X222 6,090
= 6,090

301 et A= 13,000 0 13,000
= 13,000

10 EHAIAHIEAZ 13,000 0 13,000
Ogol nNssd % 2HE3 13,000
= 13,000

307 2I2+0| & 5,800 0 5,800
= 5,800

02 0IZ2ZtEAMNE X 5,800 0 5,800
Ox=aHBHOIHAES XA 5,800
= 5,800

Jleedg 24 6,789,640 15,624,352 N8,834,712
= 1,029,280
2 4,550,000
== 1,210,360

AR HIOZ2ESH(2D) 1,000,000 1,000,000 0
= 1,000,000

403 XMXISHMS 20| 1,000,000 1,000,000 0
= 1,000,000

01 AXEHMA2EE 1,000,000 1,000,000 0
OARL HIO=E3H2IHA) 1,000,000
= 1,000,000

GOt & MAHA 22| 214,504 619, 158 N404,654

202 (4 9,504 4,158 5,346

01 2 oibl 9,504 4,158 5,346
OF M ELAY =R 9,504

403 XHXISHE X201 205,000 615,000 A 410,000

01 NXESHMA2EE 205,000 615,000 410,000
OZHAEHIHE NH3AXTH 50,000
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35,136

35,136
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5,856
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3,000,000

2,400,000
600,000

3,000,000

401 AIEHIZL 20U

H o

2,985,000

2,388,000
597,000

2,985,000

01 Al£Hl
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03 A&=20HYI
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H o

H o

2,974,200
2,974,200

2,379,360
594,840
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8,640
2,160

2,974,200
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12,000
3,000

15,000
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12,000
3,000
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300,000
75,000

375,000

401 AIEHIZ 20U

H o

375,000

300,000
75,000

363,000

12,000

01 Al&HI

OHEONT 2422

03 A&E20HYI

H o

372,300

372,300

297,840
74,460

2,700

360,300

2,700

12,000
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SN EB -GS - MBAY - BES 0 & 24 e HRE2
OUZOE 222 2,700
2 2,160
= 540
HICtEZ A (2D) 840,000 860,000 20,000
= 800,000
= 40,000
403 XHXICHAI S KH= 0 & 840,000 860,000 20,000
= 800,000
= 40,000
01 RXESHIZEE 840,000 860,000 20,000
LS ES! 840,000
= 800,000
= 40,000
SABRYYRA (2D) 1,085,000 1,580,000 495,000
= 1,000,000
= 85,000
403 XHXIEHHISAH2 0 A 1,085,000 1,580,000 495,000
= 1,000,000
= 85,000
01 RXESHIZEE 1,085,000 1,580,000 495,000
OSMERMALS 1,085,000
= 1,000,000
= 85,000
SMBRUE SBEAN(ZD) 100,000 100,000 0
= 50,000
= 50,000
403 XHXISHHISAH2 01 & 100,000 100,000 0
= 50,000
= 50,000
02 B 2SOl CHatCHE AL b 100,000 100,000 0
O+MZRMYYE SHEA 100,000
= 50,000
< 50,000
WLAELBE 2P Saoi7 140,000 0 140,000
403 XHXIEHHISAH2 0l & 140,000 0 140,000
02 2IZHSO0llCHat T8 AL b 140,000 0 140,000
OHLASHHE +LA S310/8 217 140,000
RENE 4 L 42 IIXHD 6,989,504 3,818,316 3,171,188
= 5,400,000
= 1,589,504
SN2 REALAY(2D) 690,000 490,000 200,000
= 600,000
= 90,000
403 XHXIEHHISAH2 0l & 690,000 490,000 200,000
= 600,000
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